
Handout 16 Solutions
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tan x( )csc x( )sec x( ) = sin x
cos x

⋅ 1
sin x

⋅ 1
cos x

= 1
cos2 x

= sec2 x( )

sec x( ) / csc x( ) =
1
cos x
1
sin x

= sin x
cos x

= tan x( )

sin x( )sec x( ) / tan x( ) =
sin x 1

cos x
sin x
cos x

= 1

−3.95 = sec −x( )− 2→−1.95 = sec −x( )→−1.95 = 1
cos −x( )

−1.95 = 1
cos x( )→ cos x( ) = − 1

1.95
→ x = cos−1 − 1

1.95
⎛
⎝⎜

⎞
⎠⎟

x ≈121!,239!

−9.1= 1/ sin −x( )− 3.5→−5.6 = − 1
sin x( )→ 5.6 = 1

sin x( )→ sin x( ) = 1
5.6

x = sin−1 1
5.6

⎛
⎝⎜

⎞
⎠⎟

x = 10.3!, 349.7!

csc 90! − x( )sec x( ) = sec x( )sec x( ) = sec2 x( )

tan 90! − x( ) / sin 90! − x( ) = ctn x( )
cos x( ) =

cos x( )
sin x( )
cos x( ) =

1
sin x( ) = csc x( )
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cos2 x( )+ 4cos x( )− 5 = 0
cos x( )+ 5( ) cos x( )−1( ) = 0
cos x( ) = −5 (Impossible
cos x( ) = −1

x = 180!

3sin2 θ( )−10sin θ( ) = 6sin θ( )−12
3sin2 θ( )−16sin θ( )+12 = 0

sin θ( ) = 16 ± 256 −144
6

≈ 4.43, 0.9028

sin θ( ) = 4.43 (Impossible
sin θ( ) = 0.9028
θ ≈ 64!, 396!


